At, qf )

function [p, iters] = PageRank(G, alpha)

outlinks = sum(G):
d = (outlinks==0);

D = diag(l./(outlinks+d)):;

P=G*D; % scale columns by 1/deg(7)

R = size(P,1);

e = ones(R,1);

p = ones(R,1) ./ R; % initial probability vector
iters = 0;

err = 1.0;

maxIlters = 10000;

while err > le-8 && iters < maxIters
% Note: For efficiency, do (d*p) before e*d
Mp = alpha* (P*p + e*(d*p)/R) + (l-alpha)/R*e;
err = norm(p-Mp, inf);

p = Mp;

iters = iters + 1;
end
if iters == maxlters

disp('Failed to converge'):;
end



AY, RE ()

%% Google script

if 1

o

o

Note:

clear G;
clear U;

©

U{l}
u{2}
U{3}
U{4}
U{5}
u{e}

else

end

% Load a larger graph

o

1 means true,

la!’.
lbl;
Icl;
ldl;
lel'-

I3

lfl‘;

2 R

ma Np e Ne B Ma s ws s Ne

load cs.mat

%% Page Rank algorithm

alpha =
iters]

[P,

0.85;

%% Output

PageRank (G,

alpha) ;

disp(['Converged in ' num2str (iters)

% Display the first 6 scores

p(l:

6)

bar (p);

[y I] =

for

end

n =

sort (p,

'descend') ;

l:min(length(I),10)

disp([numZ2str{n) ':

UlI{n)}]);

0 means false

% Place your code to create G and U here

iterations']):;
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